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Lesson 43

IT LOOKS AS
THOUGHIT
WOULD RAIN
NOW
Suguna! We should see that our
work is finished by tomorrow.
It is already getting very late.

My father is angry.

Yes. Look! It looks as though
it would rain now. There are
dark clouds all over the sky.
We are still very far from the
bus stand.

No, Suguna! It is very near.


Eklavya Sharma
Lesson 43
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Why is it that there are so many
people here?

The bus stops here also. We
Who
among your friends (fem) are

will also stay here.

coming to your house today?
and who are not coming?

All are coming. Look here, there
are about a hundred people. I
am afraid all of them are wait-
ing for the bus only.

Yes.

Will there be room in the bus
for so many?

Yes! What do you think of a city
bus? Its capacity is unlimited.
Pushpaka Vimanam!

If we just stand here how can
we identify the buses going to
our area from the other buses?

There is only one indication. The
bus stopping at that tree is for
us and the bus not stopping
there is not for us.

Then, we have to stand there!
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Lesson 43

Yes. Let's go. The more we delay
the more the people will be.

If the bus arrives on time as it
did yesterday, we will reach
home in half an hour.

Do you think all the things will
go as we plan?

As the time passes, the number
of people is getting larger.

It doesn't matter. Some of them
are going away in autorickshaws.

Shall we also go in an autori-
ckshaw like those people?

Not necessary. We will have
room in the bus. It is getting
time for the bus to arrive.

2@ P5°S BASEY Ko 05 do |

| had a dream last night that | was playing
football.

=
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5 229056° ©RIP, 5
DS G515 0!
It seems there are so

many portions in your
building to let !

8] & SHen

(2]
SB30 03330l
No! We give only the
boards for rent!
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DRILLS
a. Repetition drill

AJ) SNITEYIE? T TESE?

BIPE SHYES) TSR ISV TH)SH?
0 Trew FuTg)s? Solgd T®)S86?

& Sored a9Es dNITHIN? B TFYIEH?
QOPED TH G0 ANT) THHIW? R TEID?
QUPE BHE &) THID? B TH)S0?
& DOEE T WGETR)SE? T THIH?

30) SrerBIy Sy Srerdo.
A% TR DYy oL ?

S03 DY eBhgen STkos.
QY SEP 5288 SO Wrcod.
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DS) 866 w0 S ¢k
QAP TS SRR,

STHOTE By $30) F0 WEAEETI.

FESEG DoNS0 ey SR06.
&0 @O.Dég’(?;) 230 o)éba_o‘ﬁ YT .

b. Substitution drill

Model (i) Model (ii)
A @) B3 ) AaTsd BI0k. 30) DOIIEY DEY.
QOE QIETCa
D3 1%3‘2 DONKITEY) BTEEF DODFOS. 3% Sreréecitn Srerdol
Lo°Cd Lo°Cd
&8 Taw
M Q98
ST o
QA0S
Necvin
¢. Response drill
Model (i)
S0 STEPced 2. FSed) Yoo oy,
DI BTEPEINEN STErcESo? 3. o8 Se.
1. E&oer) TE0 50 4. @30 SGo.

Model (ii) & A0S BLDTENTIE; ESE0 TEYTL.
dooh TH)SE ESGo THSE Dy ES08)He0?
1. S 00), T¢) W) ©HAT S0,
2. & QG DOBIE DRI TP GOH; DOBEE AP T GO,
3. ©¥c Bodky Bemon. e 5 Mowrd FE0d; 208 5
ENVINITIEVET Solal
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d. Transformation drill
Model (i)

Féé& o).

36)%0 ST DS
1. of) 360,
2. TEL FRTTO.
3. & 2000) S&Td.

Model (ii)

B BEYENTE 2.
BN FEIVTL 0.

TIE SGRNT) T IC0D.
B O0NG) T HETND.
T oMo SRUERI) TLR akd?
0 ST da30?

5. Al DI BRATE) DS6?

H oL

Model (iii)

BEE EFENNTE AS5ED?

B FETL DS6?
1. & 0 BRONTSD?
2. TESE SrerbdTgsso?
3. &d80 TVSTPSE?

Model (iv)

Q0% (HOLrd FTE B.
Q0% MO dEITE S
1. T ©gTeos $000?
2. 8% ST B,
3. Jepod oo dW T B
4. I $0DV wNTE B
5.0 Q038 FSHTE DS?

Model (v) & 5% Dod &0 @08 erHotnod.
& 5 TASEE 2rHonod.
1. 1868 Qod STeréd eod erhotnod.
2. QoS IEQ ©0S TG0 DS @oSER EIVR0R.
3. Qo0& 2rm DINQ @od W8 S ETEO NS OOOR.

EXERCISES

a. Fill up the blanks with the verbs suggested in the parentheses as

shown in the model.

Model (i) O30 oo

B BRI YR{Zo S,
&61 ...............

o
3
&

(56509) Ddgo Seso.

(T) dorgdoen Yarsd ST .
(Fo5) ¢ SEy.

(De0s) T3 Ik Ve,
(860) erben 82 domc.
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Model (i) 095 -ovrverenne. (es¢8d) % e3C5E0T) 0.
3098 @GSEN VK eEISITY.
RS To L (T°aw) ASB TIE?
2. 0D vveriiinann, ($¢0T) V0 (07T SO0,
3. B8 v (Fooz) T denlo.

b. Give your responses to the following sentences as shown in the
model.

Model N3 2T ST, 2. T3 o T D0,
B SENI)e0? 3. o35 DORGTE?
1. 36) errr 0. 4. @83 rm SoErEEd.

¢. Answer the following questions as shown in the model.

Model (i) & 5D Do DODE0ErE? (2Xm-0JDang)
eI DIW LD DOK0E.
1. 36 d&r ISHTO? (90¢d8-83%00)
2. 330) DT Srercsooerdd? (e90¢88-2%0wd)
3. TR D Dagsootrdd? (eoddr-ah)

Model (ii) &, A& Fr& DWRHO? (36)-ard)
@I, B8) BB T,
1. S, eH% 330 MAMESTIEH? (ED0s-2360D)
2. A, a330 HOREBTE? (Dwo-o°)
3. &, Ben efod? (23350-6m)

Model (iii) ~ 38) @& Seohd) DoPLE? (agd)
000G, VGV DOVOWELERTE.
1. 0§ PYTS @Ydor? (2-(wNTd)
2. £5® Dot CraroHhen 90owm? (a8 Srarow)
3. B 06 DoTes dYE? (S DLTen)

Model (iv) %) $36 Sama? 2. &0 ) WSHER DROE?
T BOCHD. FNRTTD. 3. 7SS 0 @eow?
1. B HE IS T3 HEROT? 4. 88 &gdo SV ow?
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Model (v)

I3 g STerEe?
&) A SrETEITE w88 oo

1. A3) g ceanen ebms?
2. 33 o e JEer?

D& o0k, 3. g wgTen TTEr?
VOCABULARY
§%0 anger £& a particle which can
e5°30 sky be equated with
<3020 cloud (n.) 'as' (43.8)
oy overcast (v.) §0S00d some people
Q0SB0 these many people SNISlole} need; necessity
@0$000  those many people Do building
S0 space (n.) @*géa portion of a house to
Xg)éqbé D30 mysterious aircraft of let out; a tenement
Ravana, in Ramayana, &S @ board (n.)
which can carry any DQerS foot-ball
number of people. g dream (n.)
5308, identify
& symbol; identification
GRAMMAR NOTES
43.1. In this lesson the derived manner adverbs (derived from the adjectival

participle form of the verb) are introduced. These adverbs can express tense
also. They are formed by adding -e9¢ -a /u to the adjectival participle (31.3;
41.1; 41.2). The tense of the adjectival participle reflects in these derived
adverbs.

@GNS + @0 = @dbNIED 'in the manner how someone asked;
adigina + a lu = adigina lu like someone asked' (2.12.2)
@EMEI) + @ = ©MEN  'in the manner how someone is
adugutunna + alu = adugutunna lu asking' (2.12.2)

e&i+etn = odn-d-ety = e&neéw'in the manner how someone
adigé+a lu = adigé- -a lu asks/will ask' (43.2)
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Lesson 43

43.2. An augment & comes in between the adjectival participle ending
in & & (the future/habitual/non-past adjectival participle) and a suffix/particle
beginning with & a.

Gh+etn = o&h-d-wey = edhetw  adige+a lu = adige- -a lu

'in the manner how someone asks/will ask; as someone asks/will ask'

43.3. The usage of the derived manner adverbs mentioned in 43.1 is as
follows.

43.3.1. The derived manner adverbs can be used as modifiers of the main
verb.

098 Srerddén 0 ST ETT 0. T will speak in the manner how you
nuvvu ma ladina lu nénu ma ladtanu. speak. (I will speak like you.)
Q¢ SITET QIR A STETTT0. 'T will speak in the manner how
nuvvu ma ladtunna lu nénu ma ladtanu. you are speak.

43.3.2. The derived manner adverbs can be used to express supposition,

when an existential (&oc uMdu) verb form is added to them.

E500 A SM9EN08. (é@géé&g + &0O)

kamala ninna vaccina [uMdi. (vaccina lu+UMdi)

Tt seems Kamala came yesterday.' (2.12.2)

@05 5D ISBES STETEIBISNTIE. (~SoS)ED + GTE)

akkada ravi evaritono ma ladutunna lunnadu (ma ladutunna lu+unnadu)

it seems Ravi is talking to somebody there.' (2.12.2)

Qe TS SWOERNG (See+e0)

1vvéla vana vaccé a lunnadi. (vaccé a lu + unnadi)

Tt seems it will rain today.'
*The future tense forms of the derived manner adverbs in such expressions do
not seem to express habitual notion. For habitual notion in such expressions
present tense forms are used.

S5 §a™ 5% B3 ewT. It seems he drinks coffee every day.'

atanu roji katt tagutunna lunnadu
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43.3.3. Notice the use of the derived manner adverbs of future tense in the
following type of sentence:

GV @0 S0 DS, "Make Ravi eat food.'
ravini annaM tin€ a lu ceyyi.
INDINIRONY) a@ﬁé&&p’ K0°¢6065%. 'See that our work is finished.'

mana pani jarigé a lu ciadaMdi.

434. The human demonstrative count pronouns 208008 iMtamaMdi
'these many people' @o&oodaMtamaMdi 'those/so many people' are also
introduced in this lesson. The corresponding human indefinite count pronoun,
0008 koMtamaMdi'some people' is also used in this lesson. QJo& ool
eMtamaMdi 'how many people' (5.2) is the corresponding interrogative count
pronoun. All these forms can be used as pronouns as well as adjectives.

WHG OB ATIRLY GINT? 'Are there somany students'
akkada aMtamaMdi vidyarthulu unnara?
WHE ITHRLO WoSI0H GIT? 'Are there somany students'

akkada vidyarthulu aMtamaMdi unnara?

434.1 All the count and mass pronouns (they also function as adjectives

as mentioned above) are given hereunder.

COUNT
MASS
HUMAN | NEUTER

Interrogative DOBS000 N Do

eMtamaMdi enni eMita

Remote @0e5:3008 @EDJV @0¢%

. aMtamaMdi anni aMita
Demonstrative

Proximate Q000 ad), K06

iMtamaMldi nni iMta

Indefinite £05008 § Ql §o¢s
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Lesson 43

43.5. In this lesson the negative adjectival participle is introduced —eod

-ani 1s added to the verbal base to form the negative adjectival participle. (See
43.5.1)

D%+ ©I = ¢ (2.12.2) vellu + ani = vellani
'that/those who/which does/do/did/will not go'
B+ ©J = & (2.12.2) tinu + ani = tinani

'that/those who does/do/did/will not eat that/those which is/are/was/were/
will not be eaten'

o + 0 = o0 (3.13.1) 1a + ani = rani
'that/those who/which does/do/did/will not come'
WOWS + I = DONI(2.12.2) ceyyi + ani = ceyyani

'that/those who/which does/do/did/will not do; that/those which is/are/
was were/will not be done'

S8 + @ = & (3.13.1) tisuko + ani = tisukoni

'that/those who/which does/do/did/will not take; that/those which is/are/
was were/will not be taken'

o0 + @0 = foo-e0d = 30 (33.3; 33.5) kalus + ani = kalav-ani

'that/those who/which does/do/did/will not meet; whom somebody do/
does/did/will not be meet'

VOO + @D = VOI-J = VoS (33.3;34.4) piluc+ani = pilav-ani

'that/those who do/does/did will not call; that/those who/which is/are/
was/were/will not be called'

43.5.1. Recall that the affirmative adjectival participles show a tense
distinction viz. present, past and future/habitual/non past (31.3; 41.1; 41.2). The
negative adjectival participle does not show any such distinction, and it is the

common negative for all the three affirmative forms.

D), NS 2000 Q) T 200
ninna vaccina bassu X mnna rani bassu
'the bus which came yesterday' 'the bus which did not come yesterday'
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QOPC QI 20
1ppudu vastunna bassu

'the bus which is coming now'

3 SWy 270
répu vaccé bassu

'the bus which will come tomorrow'

QAP T 20)

ippudu rani bassu

'the bus which does not come
(which is not coming) now'

39 T 2l

répu rani bassu

'the bus which will not come tomorrow'

43.6. The adjectival participles are presented here in a tabular form.
Adjectival Participle
)
\)
Affirmative
\)
\) \
Present Past Future/Habitual/

(Progressive) Verbal base+ non-past

Verbal base+

Verbal base+

&N tunna (31.3) s /o0S /e inafyina/a S/ &ye

41.1) (41.2)
D&Y adugutunna  &ENS adigina (28.6) & adige (413; 28.6)
Sotnd) koMunna 3 konna 5§ koné

(23.2) (2.12.2)
&S potunna &Fa0d poyina A poye
\)
Negative
Verbal base+
(M) ani (31.3)

9N adagani (15.5.1;2.12.2)
§39 konani (2.12.2)
I poni (3.13.1)

610



Lesson 43

43.7. The negative adjectival participle predicates (nominalized negative
adjectival participles) are formed by adding the predicate markers (nominalizing
suffixes) to the negative adjectival participles. (cf. adjectival participle predicates
414))

PFI-L vellani-di 'that who/which does/did/will' not go' (non-
hon.fem. & neut.sg.)

SFI-D vellani-vi 'those which do/did/will not go' (neuter.pl.)

S$I-°0  vellani-vadu  'that who does/did/will not go' (non-hon.masc.sg.)

S$I-°6>  vellani-varu  'that who does/did/will not go' (hon.epi.sg.)

QEI-¢Y) vellani-vallu 'those who do/did/will not go' (hum.pl.)

All that is stated regarding the affirmative forms of the adjectival participle
predicates in 41.4, 41.4.1,41.4.2,41.4.3 and 41.4.4. is applicable to the
negative adjectival participle predicates also.

43.8. Notice the use of the past adjectival participle together with the
particle § éé koddr (which can be translated as 'as' in the combination) in
sentences like the following.

DYg BES T D8 §Ho KRod.

nuvvu ti ina koddr raviki kopaM vastuMdi.

'As you go on scolding, Ravi gets angry.'
830 ond § é 230 o)éogré YT 0. 'As the time advances more
aiMu ayina koddri janaM ekkuva avutaru people gather.

43.9. Notice the use of the verbal noun (gerund 25.1) with the interrogative
word Q& e /2 (or e e/a) (8.12; 32.10)

QUPE S0 T /der ¢Heo?  'How can we go now? How to go now?
1ppudu manaM e lasela vella aM?

&9 DDODHO BORVEDWO T /e 'How to know that matter?'

a visayaM telusukova aM e lajela?

The gerund form can occur before or after ¢r /oder e la/ela.
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